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. SMERMO T inIZBHET ST 2ERIA
ﬁg TREOBBDESLADKRES TREQHBESSLADKRES TREOBBOESLADKRES TREOHBERILHDOKRES
; 100kN/M%#B % % — -~ = —|3mZE#BZB| — ~ — — — | 100kN/Mi%Z#8 %% — - ~ — — |3mZE#BZ 3 - ~ — — -
ZznLst 1.00 |1 0.00 ~ 4.23 52.91 | £hst | 0oo ~ 423|201 10.15 ZznLst 1.00 | 5.00 ~ 5.00 52.91 | =0 | 5,00 ~ 5.00)| 201 10.15
2 100kN/M%Z#B % % — -~ = —|3mZE#BZB| — ~ — — — | 100kN/Mi%#8Z % — - ~ — — |3mZE#BZ B - ~ — — -
ZznLst 1.00 1 000 ~ 398 49.91 | =hst | 0oo ~ 398|215 10.86 znLst 1.00 | 5.00 ~ 5.40 49.91 | =nLS | 5,00 ~ 540|215 10.86
P 100kN/M%Z#B % % — -~ = —|3mZE#BZB| — ~ — — — | 100kN/Mi%#8Z % — - ~ — — |3mZE#BZ B - ~ — — -
ZznLst 1.00 1 000 ~ 747 95.42 | =hst | 0oo ~ 000|178 8.98 znLst 1.00 | 5.00 ~ 9.75 95.42 | =nLS | 5.00 ~ 9.75|1.78 8.98
4 100kN/M%Z#B % % — -~ = —|3mZE#BZB| — ~ — — — | 100kN/Mi%Z# %% — - ~ — — |3mZE#BZ B - ~ — — -
ZznLst 1.00 1000 ~ 7.75 99.47 | =hst | 0oo ~ 775223 11.26 ZznLst 1.00 | 6.00 ~ 1047 99.47 | =nLS | 5,00 ~ 1047) 223 11.26
5 100kN/M%Z#B % % — -~ = —|3mZE#BZB| — ~ — — — | 100kN/Mi%Z# %% — - ~ — — |3mZE#BZ B - ~ — — -
ZznLst 1.00 1 000 ~ 7.74 99.38 | =hst |oo0o ~ 774|218 11.03 ZznLst 1.00 |1 6.00 ~ 1042 99.38 | =S | 5,00 ~ 1042)| 218 11.03
g 100kN/M%Z#B % % — -~ = —|3mZE#BZB| — ~ — — — | 100kN/MiZ#Z % — - ~ — — |3mZE#BZ B - ~ — — -
ZznLst 1.00 1 000 ~ 695 88.15 | =hst | 0oo ~ 000|171 8.66 ZznLst 1.00 | 5.00 ~ 8.66 8815 | =Nt | 5,00 ~ 866 1.71 8.66
7 100kN/M%Z#B % % — -~ = —|3mZE#BZB| — ~ — — — | 100kN/Mi%#8Z % — - ~ — — |3mZE#BZ 3 - ~ — — -
znLst 1.00 1 000 ~ 522 65.10 | TN | 000 ~ 522|194 9.79 znLst 1.00 | 5.00 ~ 6.10 65.10 | =nS | 65,00 ~ 6.10 | 1.94 9.79
100kN/M%Z#B % % ~ ImEHBAD ~ 100kN/m%Z#BZ % ~ ImERZ D ~
Zh s ~ ZnLst ~ Zh LS ~ ZnLst ~
100kN/M%Z#B % % ~ ImEHBAD ~ 100kN/m%Z#BZ % ~ ImERZ S ~
Zh LS ~ ZnLst ~ Zh LS ~ ZhnLst ~
100kN/M%Z#B % % ~ ImEHBAD ~ 100kN/m%Z#BZ % ~ ImERZ D ~
Zh LS ~ ZnLst ~ Zh LS ~ ZhLst ~
100kN/M%Z#B % % ~ ImEHBAD ~ 100kN/m%Z#BZ % ~ ImEBZ S ~
ZhS ~ ZhLst ~ ZhLS ~ ZhnLst ~
100kN/M%Z#B % % ~ ImEHBAD ~ 100kN/m%Z#BZ % ~ 3ImERZ D ~
ZhLS ~ ZhLst ~ Zh LS ~ ZhLst ~
100kN/M%Z#B % % ~ ImEHBAD ~ 100kN/m%Z#BZ % ~ ImERZD ~
Zh LS ~ ZhLst ~ Zh LS ~ ZhLst ~
100kN/M%Z#B % % ~ ImEHBAD ~ 100kN/m%Z#BZ % ~ ImERZ S ~
Zh s ~ ZhList ~ Zh LS ~ ZhLst ~
100kN/M%Z#B % % ~ ImEHBAD ~ 100kN/m%Z#BZ % ~ ImERZ S ~
zhList ~ s ~ zhList ~ s ~
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